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ECOHGEC02T/ECOGCORO02T-ECONOMICS (GE2/DSC2)

INTRODUCTORY MACROECONOMICS
Time Allotted: 2 Hours Full Marks: 30
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The figures in the margin indicate full marks.
Candidates should answer in their own words

and adhere o the word limit as practicable.

I Answer any six questions from the following: 2x6 =12

fsfeifeie -1 TAH 208a Ted wies
(a) Differentiate between GNP and NNP.
GNP 93 NNP-@a3 [ 7144 (e
(b) Differentiate between final goods and mtermediate goods
FATeg Tewrm ¥ ¢ WEES] wrara Wiy vide) &y
(¢) Why do you think transfer earnings are not included in the national income
measurement of a country?
@] (A STOR WA ARNIia Sy 2%1%9e S afare wage @ 20« (@ Y
(d) What is meant by “full employment™’
i e Fee F QI ¢
(¢) What is High Powered money”
Ty FACITE OIF F ¢
(1) What is the significance of the statement that, the value of MPC greater than zero
and less than one?
“MPC -4 Sie #4IZ #a] A2rE] b € 96 Bom (26 - 0% <iwifhe ud &y
(¢) What do you understand by “store of value™ function of money?
Gara * SeTd 7y - 9% FGTh 460 § ([@@iR y
(h) What 1s Cash Reserve Ratio?
w5 TR SRHAE FIE 405 ¥
(1) Why is the value of investment multiplier always greater than one”
faferrze) @eraa Im 7 9T WHE T T (& ¢
(1) What is cost-push inflation”
FWW_S Wﬁﬁ’/ EE AT Y
(k) Mention WO reasons w hy per capita national income 15 not an appropriate
measure of national weltare.
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2 Answer any fwo questions from the following: 4x2 = R
fesfefae qI-Fiea 7f e Ted wies
(a) What is meant by “saving-investment identity™ in national income accounting?
TSR WA (0 eey-Rfacaiesra sirew ™ 0 1 (@Mal 2
(b) Write a short note on HDI.
HDI -97 ¢*@ «afb e B @t
(c) Analyze the causes of inflation.
Turiifea sreefs Qrrae s
(d) If in the two-sector model, the consumption function is C =800+.08} and
autonomous investment is / = 400. then derive the equilibrium level of income.,
MPS and the value of the investment multiplier.
a&fb farwa wres, 2w coral weorEsts 21, ¢ =800 +.08) . TGS [s / - 400, &
73 SR B, MPS @3z fafacns eeraa wm fMdae sl
3. Answer any three questions from the following: [0x3 30
frreferfire Q- feafs e Sea we:
(a) Discuss the production census method of measuring national income. Discuss the 51243

problem of “double counting™ in this context. How can we overcome this
problem?

SIS R AR St SR ool st wran 43 eniw - faserra waG
I S 1 92 7 [FeIR Wl w7 Fare #ifd o
(b) What is meant by “effective demand™” Explain how equilibrium income is 248
determined by effective demand in the Simple Keyvnesian model.
@Gl bifEvT FE A ¢ T (TR WO ST 5ifEEE W fEeme s
i fadifae 2o, < eSS
(¢) What is consumption function? Explain the features of the Keynesian 2+8
consumption function with the help of a diagram.
Colel ALAPEE SIF A 7 (AN (O19) WP 1Bl aafbraa s aan wca)

(d) What is “valuc of money’? Explain the Fisher's version of Quantity Theory of 2K
Money.
S 5T 00 o @I 9 femicas sicefa A wefS apan <

(e) Briefly discuss the functions of a Central Bank. [0
FKOF 9B (T AI0FA P WG SR

(1) What are the similarities and differences between banks and non-bank financial 4+6

Institutions? Discuss the functions of commercial banks in an economy.
T & TAE WLE g G v ¢ sndaaE & 7 @& wddifers arfafora
JTE S WS S0

NB.: Students have to complete submission of their Answer Se rpis through E-mail -~ Whatsapp
to their own respective colleges on the same dav  dute of exanunation within 1 howr after
end of exam University College authorities will not he held responsible for wrony
submission (at in proper address) Students are strongly advised not 1o submit /nt(//[/)./;'
copies of the same answer script.
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